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EEhRE (V) LHERE V= 10.0%)
Bt & 58 EE (m)

ol =0.85=(1 - 3.000V = 100) =1.21

@2 =1.00+=(1 - 2.000V =~ 100) =1.25

@3 =100=(1-43V = 1000 =1.21

al, 2. o 3DEKNEZEHE LIAEHKELET, a = 1.25

m=qa X SL= 33.8

UEXYy, BRAFEEMm = 33.8(N/mh) & LET, m = 33.8(N/mf)
KE AL MEEW/C)

W/C =30.6 +(33.8 + 23.3) X 100 = 53.59 (%) W/C= 53.5(%)
EAfr K E (W) Ui ERE = 171 (kg/nt)
B A FE(C)

C=W = W/C X 100 = 171 = 53.5 X 100 = 320(kg/nt) C=320(kg/nt)

Ve =C ~pc= 320 =+ 3.04=105(0/nt) Ve= 105(Q /nf)
HEM S EFRE (L /nf) LA ERE V= 590(0/nf)
BEACHAE M E (G)

Vg =V XZFEFEER- 100 = 590 X 59.0 = 100 = 348(L0 /nf') Vg=  348(Q /nf)

Vgl =Vg X( 70 =( 70+ 30))= 244(Q/nf) Vgl=  244(Q /uf)

Vg2 = Vg — Vgl = 104(L2 /nf) Vg2=  104(LQ /nf)

Gl = Vgl X pgl = 244 X 2.71 = 661 (kg/nt) Gl= 661 (kg/nt)

G2 =Vg2 Xpg2= 104 X 2.71 = 282(kg/nf) G2= 282 (kg/nf)
BfLAE & (S)

Vs =av))-pEFE-( W + Ve + Vg +Vair)

= 1000 -( 171 + 105+ 348 + 45 )= 331(L/nf) Vs=  331(R/nf)

Vsl = Vs X( 50 =( 50 + 50))= 166(Q /) Vsl=  166(Q /uf)

Vs2 = Vs — Vsl =  165(Q /nf") Vs2=  165(0 /nf)

S1 =Vsl Xpsl = 166 X 2.55 = 423(kg/nf) S1= 423 (kg/nf)

S2 =Vs2 X ps2 = 165 X 2.65 = 437 (kg/nf) S2= 437 (kg/nt)
B (s/a)

s/a= Vs—+ (Vs+Vg) X100 = 331 = ( 331 + 348) X100 = 48.7(%) s/a= 48.7 (%)
B(TIEFIHIE (Ad)

Adl = C X ¥shiZ+ 100 = 320 X0.80-100= 2.56(kg/nf) Adl=  2.56(kg/nf)
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